I— B | c | D | E F | G | H I J
(4) Mounting Holes Note: Spreader bar 127.9 [5.04] _
= 62.9 [2.48] 70 [2.76] for M6 [1/4"] Screws. —| required to avoid 3
1 2 See Detail A for top @ | damage during lifting S,
< 79.9 [3.15] 36 [1.42] mounting hole dimensions. % (2)-Lifting Holes ] ©
N S @20 [30.79] Air ™
— —+ !
IL — \l% LF
: e @ f go oo ooo S
) LED EY =) o
Readout o > Top Type 1 ; Cooling fan location
E— = = Protective Cover
o ™~ _
B NI )
I I - | Nl ° ! @7 [20.28]
=] = o2 Nameplate 00 =
2 ) o |2 S
« o |z
N, <t < > . ° B
™ — - 0000 [e]
n ) - [e]o]
S N ° g
- < EE % o
— o 2 ﬁ @13 [@0.51]
Heatsink Type 1
Bottom Type 1 Protective Cover
Protective < Air -
Covers .
4 2.3[0.09] Detail A _
Top mounting hole dimensions
max.10 [0.39] max.10 [0.39] Scale 1:1
37.5[1.48] 175 [6.89] 37.5[1.48] 25[0.10] 254 [10.00]
HORIZONTAL MTG DIM
5 250 [9.84]
62.3 [2.45] 53.3 [2.10]
N - 60.3 [2.37]
o (5) - @35 [@1.38]
< [
6 w0 —_
50 [31.97] i - @ - ]
] )
J - @@ @ = The dimensions shown are for an IPO0 Type Converter that has been converted to a
— _ F S NEMA Type 1 Converter by adding the parts from NEMA 1 Kit part number UUX001686
~ c/iC:  |INPUT VOLTAGE OUTPUT WEIGHT | COOLING |  HEAT LOSS
0, SPBC- 1-PHASE (VAC) CAPACITY Kg (Ib) FANS (W)
& ik 04410173 -
7 - 2015000 230 TO 240 15 20.5 (45.2) 2 125 | 352 | 477
- 2022000 22 20.5 (45.2) 2 156 | 539 | 695
65.8 [2.59] 57.8 [2.28] 4022000 460 TO 480 22 19.5 (43.0) 2 115 | 389 | 504
4030000 30 19.5 (43.0) 2 141 | 504 | 645
] o denotes A-Z INT=Internal Components
53.3[2.10] 33.6[1.32] EXT=External Heatsink
! TOT=Total
8 @ —1 DRWN. | J. MATTAS 8-8-18 TITLE SIZE A ‘PAGE 10F4 REV
YAS I(AWA — |cHKD. [ J. PIOTROWSKI |8-23-18 SPBC DIMENSION DRAWING  [5WGNO. 0
UNITS MM [IN] | TECH. [L. UDDIN 8-30-18 FRAME SIZE 1
SCALE 18 | APRY. |1 CAIRO 91018 NEMA TYPE 1 ENCLOSURE DD.SPBC.FR1.N1




I— A B I C I D I E [ F | G | H | I J
Terminal and Wiring Information for SPBC-2015, SPBC-4022 and SPBC-4030
1
| 47.8[1.88] 8xP5=40 [1.57]
251[0.99]
2 [ 7xP5=35 [1.38]
/ \\_//
Control Terminals
— YABKAW, Slot(-) Screws
o o000
(]
3 Main Terminals
S oo 9 it M6 Screvs
© © = () Phillips(+) Screws
® o o ©
] ® ® OO0 Oi]i© ® ol
B =l
L—_’ft _L ) LJ Grounding Terminals
4 with M8 Screws
44.5[1.75) 86 [3.39] Slot(-)/Hex head
(WAF: 13mm) combo
a 38.8 [1.53] 5xP19.5=97.5 [3.84]
5
6 @
©
—| .£
% o E
o © o, ©
_ .2 2 F ~ |
NIEE 4@ §|E
. c
% %% Klo 8 cic: TERMINAL WIRE RANGE TERMINAL | CLAMPING TORQUE
= =2 = SPBC- SYMBOL AWG (mm’) SCREW N.m. (Ib.in.)
7 ™0
|~ 2015000 | L) 1 S/, +4, 45, - +1 | 22-2 (0.33-33.6) M6 5.4-6.0 (47.8 - 53.1)
4022000
4030000 @ 8-6(10-16) M8 9.0-11.0(79.7 - 97.4)
] 0 Denotes A-Z
Note: Refer to applicable codes and standards for proper wire type and size.
8 @ —1 DRWN. | J. MATTAS 8-8-18 TITLE SIZE A ‘PAGE 20F 4 REV
YASI(AWA —  [CHKD. | J. PIOTROWSKI |8-23-18 | SPBC DIMENSION DRAWING  [5WG.NO. 0
UNITS MM [IN] | TECH. [L. UDDIN 8-30-18 FRAME SIZE 1
SCALE 15 | aPRV |0 CAIRG 9-10-18 NEMA TYPE 1 ENCLOSURE DD.SPBC.FR1.N1




I— A B C | D | E | F | G | H J
Terminal and Wiring Information for SPBC-2022
1
— 47.8 [1.88] 8xP5=40 [1.57]
251[0.99]
2
[——— 7xP5=35[1.38]
Control Terminals
= YASKAW Slot(-) Screws
ol o000
]
3 Main Terminals
® ® with M8 Screws
| Phillips(+)/Hex head
A S (WAF: 13mm) combo
®
|\ )|
4
44.5[1.75] 86 [3.39] Grounding Terminals
with M8 Screws
Slot(-)/Hex head
— 20.1[0.79] 5xP27=135 [5.31] (WA(F): 13mm) combo
5
6 i
©
—| .£
? o E
] > 3 § S
N2 23 IE
LI 2E < | N5
~| 20 ~ |2 O
o S+ |2 ~ CIC: TERMINAL WIRE RANGE TERMINAL | CLAMPING TORQUE
7 ®9 SPBC- SYMBOL AWG (mm?) SCREW N.m. (Ib.in.)
RILL, SIL2, +4, 45, - +1 | 8-2/0 (8.4 - 67.4) M8 9.0-11.0(79.7 - 97.4)
2022000
@ 4(25) M8 9.0-11.0 (79.7 - 97.4)
] 0 Denotes A-Z
Note: Refer to applicable codes and standards for proper wire type and size.
8 @ —1 DRWN. | J. MATTAS 8-8-18 TITLE SIZE A ‘PAGE 30F4 REV
YASI(AWA —  [CHKD. | J. PIOTROWSKI |8-23-18 | SPBC DIMENSION DRAWING  [5WG.NO. 0
UNITS MM [IN] | TECH. |L. UDDIN 8-30-18 FRAME SIZE 1
SCALE 16 | aPRV |0 CAIRG 9-10-18 NEMA TYPE 1 ENCLOSURE DD.SPBC.FR1.N1




I— A B | C | D E F G | H | I J
Minimum Installation Clearances Panel Cutout
For External Heatsink Mounting Configuration
«
N~
= —
S S
~ =)
B
i | (4) - M6 [1/4"]
Tapped Hole
= Air N _— 235 [9.25]
/] 0
= 175 [6.89] ]
| | S, =3
---------- —
|[fE————4.]| 3 s
@ @
H B
30[1.18] * 4 30 [1.18]
CUTOUT
- ! I
YASKAWA * | & 3
2 oooo E, i g E
— n ] [42] n
= _J (o] — 2]
&) T — 5 ™ % hy Q
|
' fe 3p |
''''''''''' |
|
_ |
~ Q )
5 o 175 [6.89] Q
= © =2
3 : :
7) [/ | 250 [9.84]
Air =z~ = Ajr
r A
< Notes: _ N
':r' Exposed heatsink minimum clearance D = 105 [4.13].
=y
N
i
@ —1 DRWN. | J. MATTAS 8-8-18 TITLE SIZE A ‘F’AGE 4 OF 4 REV
YASI(AWA —JI | CHKD. |J. PIOTROWSKI |8-23-18 SPBC DIMENSION DRAWING  [5WGNO. 0
UNITS MM [IN] | TECH. |L. UDDIN 8-30-18 FRAME SIZE 1
SCALE 16 | APRY. |1 CAIRO 91018 NEMA TYPE 1 ENCLOSURE DD.SPBC.FR1.N1




